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        [Instructions:  1.  A2 size drawing sheet will be supplied and both sides can be used. 

                               2.  Use of BIS tables and chart are permitted in the examination hall 

                               3.  Theory portions of the questions should be answered in the answer book 

                               4.  Sketches accompanied.] 

 
PART–A 

                                                (Maximum marks:10)                                    Marks 
 

I. Answer two questions in one or two sentences.  Each question carries 5 marks.  
      

1.  Find the maximum and minimum size of the following using BIS table. 

           (a)40H7   (b)30H8   (c)20p6      (d)35 js6     (e)25f7 

2.  Draw the surface texture symbol with the following surface texture charcterestics. 

   (a)Roughness value    (b) Production method     (c)Sampling length 

   (d)Direction of lay    (e)Machining allowance 

3.  Draw the symbols for direction of lay and indicate what they represent. 

4.  Name any five important types of process charts.                                           (2x5=10)                     

                                                                                                                                                                                            
PART -  B 

(Maximum marks:15) 
II Answer any one  of the following questions. Each question carries 15 marks) 
 

1.  Compute the limit dimensions of the shaft and the hole for a clearance fit 

Based on hole basis system, if                        

Basic size of the shaft            = Ø 30 mm 

Minimum clearance               =  0.020 mm 

Tolerance on the hole             = 0.033 mm 

Tolerance on the shaft           = 0.021 mm 

Represent the limit dimensions schematically. 
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 PART -  C 
(Maximum marks:50) 

 
(Answer any one of the following questions)  

 
 

 
 
 
 
 
 
 
 
 



  
 
 

 
 
 
 
 
 


